### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

		_		,			
Workorder: 636838	Problem:	WASH \	/EHICLE				
Meter Reading: 0			Labor		Parts		
In Date: 04/05/2006	Close Date: 04/05/2	2006	Hours	Description			Quantity
- Wash Vehicle			2.50				
- Pre-Delivery Inspection							
	Parts Charge:	0.00	Labor Charge:	100.00			
Norkorder: 637532	Problem:	001 DE	TAIL VEHICLE	04/04/06			
Meter Reading: 0			Labor		Parts		
In Date: 04/04/2006	Close Date: 05/03/2	2006	Hours	Description			Quantity
- 001 Detail Vehicle	04/04/06						
	Parts Charge:	0.00	Labor Charge:	0.00	Commercial Charge:	7.14	
Workorder: 638380	Problem:	001 DE	TAIL VEHICLE	04/21/06			
Meter Reading: 0			Labor		Parts		
In Date: 04/21/2006	Close Date: 05/03/2	2006	Hours	Description			Quantity
- 001 Detail Vehicle	04/21/06						
	Parts Charge:	0.00	Labor Charge:	0.00	Commercial Charge:	7.14	
Workorder: 638443	Problem:	001 DE	TAIL VEHICLE	05/02/06			
Meter Reading: 0			Labor		Parts		
In Date: 05/02/2006	Close Date: 05/03/2	2006	Hours	Description			Quantity
- 001 Detail Vehicle	05/02/06						
	Parts Charge:	0.00	Labor Charge:	0.00	Commercial Charge:	7.14	
Workorder: 643789	Problem:	001 WA	SH TICKET ISSUED	OUT 08/07/06			
Meter Reading: 0		-	Labor		Parts		
In Date: 08/07/2006	Close Date: 08/09/2	2006	Hours	Description			Quantity
- 001 Wash Ticket Issued	I Out 08/07/06			-			
	Parts Charge:	0.00	Labor Charge:	0.00	Commercial Charge:	7.14	

### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 647495 Problem: P.M. SERVICE.

Meter Reading: 2812			Labor	Parts	
In Date: 10/19/2006	Close Date: 10	0/23/2006	Hours	Description	Quantity
- Pm Service			3.00	5W20 ENGINE OIL	5.00
<ul> <li>Nitrogen Fill All Tires</li> </ul>				1516 OIL FILTERFRM PH3600 WIX 51516	1.00
<ul> <li>Shop Supplies</li> </ul>				SHOP SUPPLIES	1.00
	Parts Charge:	25.58	Labor Charge	: 55.00	

Workorder: 647852 Problem: 002 WASH TICKETS ISSUED OUT 10/26/06

Meter Reading: 0 Labor Parts

In Date: 10/26/2006 Close Date: 10/30/2006 Hours Description Quantity

- 002 Wash Tickets Issued Out 10/26/06

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 14.28

Workorder: 738164 Problem: P.M SERVICE

	Meter Reading: 6351		Labor	Parts	
	In Date: 05/04/2007	Close Date: 05/09/2007	Hours	Description	Quantity
_	Perform Pm Service		2.75	1516 OIL FILTERFRM PH3600 WIX 51516	1.00
-	Shop Supplies			5W20 ENGINE OIL	5.00
				10020 INJECTOR CLEANER DON'T REORDER	1.00
				31-20 WIPER BLADES 20" BLADE	1.00
				31-24 WIPER BLADES 24" BLADE	1.00
				SHOP SUPPLIES	1.00

Parts Charge: 41.97 Labor Charge: 151.25

### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 747595 Problem: P.M SERVICE

Meter Reading: 8320			Labor		Parts	
In Date: 11/20/2007	Close Date: 11	/27/2007	Hours	Description		Quantity
- Pm Service			3.75	5W20 ENGINE OIL		5.00
- Rotate And High Speed Ba	alance All Four Tires	And Refill		FG1036 FUEL FILTER		1.00
Withnitrogen Air.				10020 INJECTOR CLEANER DOI	N'T REORDER	1.00
- Shop Supplies				FA1679 AIR FILTER		1.00
				1516 OIL FILTERFRM PH3600 W	VIX 51516	1.00
				SHOP SUPPLIES		1.00
	Parts Charge:	58.62	Labor Charge	e: 60.00		

Workorder: 834694 Problem: 002 WASH TICKETS ISSUED OUT 02/22/08

Meter Reading: 0 Labor Parts

In Date: 02/22/2008 Close Date: 02/27/2008 Hours Description Quantity

- 002 Wash Tickets Issued Out 02/22/08

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 16.68

Workorder: 840002 Problem: P.M SERVICE

Meter Reading: 10629		Labor	Parts		
In Date: 06/13/2008	Close Date: 06/18/2008	Hours	Description	Quantity	
- Pm Service Complete		2.75	1516 OIL FILTERFRM PH3600 WIX 51516	1.00	
<ul> <li>Shop Supplies</li> </ul>			31-24 WIPER BLADES 24" BLADE	1.00	
			SHOP SUPPLIES	1.00	
			5W20 ENGINE OIL	5.00	
			31-20 WIPER BLADES 20" BLADE	1.00	
			USED FIREX REFURBED FIRE EXTINGSHERS	1.00	

Parts Charge: 36.93 Labor Charge: 165.00

### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 848422 Problem: P.M. SERVICE.

Meter Reading: 13392			Labor	Parts	
In Date: 12/18/2008	Close Date: 12/	24/2008	Hours	Description	Quantity
Pm Service			3.75	1516 OIL FILTERFRM PH3600 WIX 51516	1.00
Rotate & Hi Speed Balance	e 4 Tires.Fill W/Nitrog	gen.		5W20 ENGINE OIL	5.00
Shop Supplies				31-16 WIPER BLADES 16" WIPER BLADE	1.00
				31-24 WIPER BLADES 24" BLADE	1.00
				FUEL FILTER	1.00
				31-20 WIPER BLADES 20" BLADE	1.00
				AIR FILTER	1.00
				SHOP SUPPLIES	1.00
	Parts Charge:	71.82	Labor Charge	e: 60.00	

Workorder: 938819 Problem: PM SERVICE.ALSO CHECK ENGINE LIGHT ON.

Meter Reading: 18001		Labor	Parts		
In Date: 06/09/2009	Close Date: 06/15/2009	Hours	Description	Quantity	
Pm Service		5.25	USED FIREX REFURBED FIRE EXTINGSHERS	1.00	
Diag Ck Eng Light Code P	0455.Reposition Fuel Cap Strap		SHOP SUPPLIES	1.00	
To Allow Cap To Seal Co	orrectly.Clear Code, Test Drive.		5W20 ENGINE OIL	5.00	
Rotate And Hi Speed Bala	nce 4 Tires. Nitrofill Tires		CABIN AIR FILTER	1.00	
Shop Supplies			1516 OIL FILTERFRM PH3600 WIX 51516	1.00	

Parts Charge: 47.11 Labor Charge: 315.00

### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 947151 Problem: P.M service, see notes, Detail.

Meter Reading: 22521			Labor	Parts	
In Date: 12/17/2009	Close Date: 0	1/07/2010	Hours	Description	Quantity
- P.M Service.			9.85	31-16 WIPER BLADES 16" WIPER BLADE	1.00
- Mount, Balance & Nitro Fil	I Four New Tires.			SHOP SUPPLIES	1.00
<ul> <li>Cut &amp; Program New Key.</li> </ul>				7083BLK FLOOR MAT	1.00
- Alignment.				P235/60R16 TIRE	4.00
- Machine Both Rear Brake	Rotors Due To Rus	st & Pitting.		164-R0475 IGN KEY 2010-EARLIER (DON'T REO	RDER) 1.00
- Shop Supplies				5W20 ENGINE OIL	5.00
chiep capphee				31-24 WIPER BLADES 24" BLADE	1.00
				AIR FILTER	1.00
				FUEL FILTER	1.00
				TIRE DISPOSAL FEE	4.00
				1516 OIL FILTERFRM PH3600 WIX 51516	1.00
				31-20 WIPER BLADES 20" BLADE	1.00
	Parts Charge:	559.79	Labor Char	ge: 1,182.00	

Workorder: 1000254 Problem: 1 - Detail Vehicle Wash Ticket(s) Issued

Meter Reading: 22505 Labor Parts

In Date: 01/06/2010 Close Date: 01/06/2010 Hours Description Quantity

- 1 - Detail Vehicle Wash Ticket(S) Issued

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 96.00

Workorder: 1007135 Problem: P.M. Service.Front end shakes at highway speeds.

Meter Reading: 27338 Labor Parts

	In Date: 07/07/2010	Close Date: 07/13/2010	Hours	Description	Quantity
-	Perform Pm Service.		3.00	USED FIREX REFURBED FIRE EXTINGSHERS	1.00
-	Rotate And Balance All Four	Tires.		10W30 MOTOR OIL	5.00
-	Shop Supplies			AIR FILTER	1.00
				1516 OIL FILTERFRM PH3600 WIX 51516	1.00
				SHOP SUPPLIES	1.00

Parts Charge: 39.27 Labor Charge: 180.00

#### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 1007449 Problem: 1 - Detail Vehicle Wash Ticket(s) Issued

Meter Reading: 27338 Labor Parts

In Date: 07/14/2010 Close Date: 07/14/2010 Hours Description Quantity

- 1 - Detail Vehicle Wash Ticket(S) Issued

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 96.00

Workorder: 1100739 Problem: Pm service also see notes on no start battery concern

Meter Reading: 32119 Labor **Parts** In Date: 01/19/2011 Close Date: 01/25/2011 Hours Description Quantity P.M. Service. 5.50 SHOP SUPPLIES 1.00 Test Batter And Charging System. Recharge Batteryand 1516 OIL FILTERFRM PH3600 WIX 51516 1.00 Retest, Failed Load Test. Replace Defective Battery. 3424 FUEL FILTER FRM 3424 WIX 33424 1.00 Flush And Refill Transmission. 10W30 MOTOR OIL 5.00 31-24 WIPER BLADES 24" BLADE 1.00 Rotate And Balance All Tires. 31-20 WIPER BLADES 20" BLADE 1.00 Shop Supplies 31-16 WIPER BLADES 16" WIPER BLADE 1.00 1.00 GROUP 59 BATTERY (MTC BXT 59) SYN/ATF TRANS FLUID SYNTHETIC 12.00

Parts Charge: 220.89 Labor Charge: 330.00

Meter Reading: 37244	Meter Reading: 37244		Parts		
In Date: 06/03/2011	Close Date: 06/13/2011	Hours	Description	Quantity	
- Perform Pm Service.		3.75	1516 OIL FILTERFRM PH3600 WIX 51516	1.00	
- Rotate And Balance All Fo	our Tires.		31-20 WIPER BLADES 20" BLADE	1.00	
- Shop Supplies			USED FIREX REFURBED FIRE EXTINGSHERS	1.00	
			CABIN FILTER	1.00	
			SHOP SUPPLIES	1.00	
			31-24 WIPER BLADES 24" BLADE	1.00	
			10W30 MOTOR OIL	5.00	
			31-16 WIPER BLADES 16" WIPER BLADE	1.00	
			AIR FILTER	1.00	

Parts Charge: 82.74 Labor Charge: 225.00

#### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 1106255 Problem: 1 - Detail Vehicle Wash Ticket(s) Issued

Meter Reading: 37244 Labor Parts

In Date: 06/14/2011 Close Date: 06/14/2011 Hours Description Quantity

- 1 - Detail Vehicle Wash Ticket(S) Issued

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 97.92

Workorder: 1108310 Problem: Makes noise on right turns and vibrates over 55 mph.

Meter Reading: 39869 Labor Parts

In Date: 08/08/2011 Close Date: 08/29/2011 Hours Description Quantity
- Rotate And Road Force Variation Balance All Four Tires 1.00 SHOP SUPPLIES 1.00

And Secure All Wheel Covers.

- Shop Supplies

Parts Charge: 2.00 Labor Charge: 60.00

Workorder: 1200226 Problem: Pm service.Lelt front wheel noise, tire pressure and detail vevicle.

Meter Reading: 41451		Labor	Parts	
In Date: 01/06/2012	Close Date: 01/23/2012	Hours	Description	Quantity
- P.M. Service.		11.00	1516 OIL FILTERFRM PH3600 WIX 51516	1.00
<ul> <li>Resurface Front Rotors,Re</li> </ul>	eplace Front Brake Pads.Service		31-24 WIPER BLADES 24" BLADE	1.00
And Lube Calipers.Flush A	and Bleed System.		31-20 WIPER BLADES 20" BLADE	1.00
<ul> <li>Replace Leaking Rear Short</li> </ul>	ocks.		31-16 WIPER BLADES 16" WIPER BLADE	1.00
- Replace And Balance Fou	r Tires.		1401 BRAKE FLUID BRAKE FLUID	1.00
- Complete Wheel Alignmen			FRONT PADS	1.00
- Shop Supplies			5W20 ENGINE OIL	5.00
Shop supplies			REAR SHOCKS	2.00
			3424 FUEL FILTER FRM 3424 WIX 33424	1.00
			SHOP SUPPLIES	1.00
			TIRE DISPOSAL FEE	4.00
			P235/60R16 INTEGRITY TIRES	4.00

Parts Charge: 637.63 Labor Charge: 660.00

#### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 1200674 Problem: 1 - Detail Vehicle Wash Ticket(s) Issued

Meter Reading: 41209 Labor Parts

In Date: 01/20/2012 Close Date: 01/20/2012 Hours Description Quantity

- 1 - Detail Vehicle Wash Ticket(S) Issued

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 97.92

Workorder: 1207673 Problem: P.M. service and detail.

Meter Reading: 44136 Labor Parts

 In Date: 08/14/2012
 Close Date: 08/24/2012
 Hours
 Description
 Quantity

 - P.M. Service.
 3.00
 1516 OIL FILTERFRM PH3600 WIX 51516
 1.00

 - Rotate And Balance All Tires.
 SHOP SUPPLIES
 1.00

 - Shop Supplies
 USED FIREX REFURBED FIRE EXTINGSHERS
 1.00

5W20 ENGINE OIL Parts Charge: 30.44 Labor Charge: 180.00

Workorder: 1208020 Problem: 1 - Detail Vehicle Wash Ticket(s) Issued

Meter Reading: 44014 Labor Parts

In Date: 08/23/2012 Close Date: 08/23/2012 Hours Description Quantity

- 1 - Detail Vehicle Wash Ticket(S) Issued

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 97.92

5.00

### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 1300905 Problem: Pm service.Runs rough.Check tires.Wipers.Request for detail vehicle.

Volkoldel. 1500505	Troblem. The dervice it date rough, officer, and every pore, request for detail vor					
Meter Reading: 46029			Labor		Parts	
In Date: 01/25/2013	Close Date: 02	2/20/2013	Hours	Description		Quantity
- P.M. Service.			7.50	COIL PACK		1.00
- Diagnose Runs Rough And	l Check Engine Ligh	nt.P0442.		GAS CAP		1.00
Replace Defective Fuel Ca	p.Replace Plugs Ar	nd Plug		WIRE		1.00
Wires And Coil Pack.Clear	Codes And Test Dr	ive.		SPARK PLUG		6.00
- Rotate And Balance All Tire	es.			G9343 FUEL FILTER MTC		1.00
- Shop Supplies				5W20 ENGINE OIL		5.00
0.10p 0app.100				PH3600 OIL FILTER LBF		1.00
				31-16 WIPER BLADES 16		1.00
				31-24 WIPER BLADES 2		1.00
				31-20 WIPER BLADES 20		1.00
				MAC WITE LITHIUM GRES		1.00
				SHOP SUPPLIES		1.00
				NAPAGOLD AIR FILTER		1.00
	Parts Charge:	266.20	Labor Char	ge: 450.00		

Workorder: 1305132 Problem: Transmission shudders, slipping and hard shifting between park and reverse.

Meter Reading: 47668

Labor

Parts
In Date: 05/22/2013

Close Date: 05/11/2013

Hours

Page Printing

	In Date: 05/23/2013	Close Date: 06/11/2013	Hours	Description	Quantity
-	Diagnose Shudder And H	arsh Shifting Complaint.Perform	2.50	SHOP SUPPLIES	1.00
	Power Balance Test.Repla	ace Ignition Coil And #5 & #6		COIL PACK	1.00
	Spark Plugs.Test Drive.			SPARK PLUG	2.00
-	Shop Supplies				

Parts Charge: 8.93 Labor Charge: 150.00

### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 1309559	Problem:	Pm service
--------------------	----------	------------

	Meter Reading: 50376			Labor		Parts	
	In Date: 09/20/2013	Close Date: 10	0/08/2013	Hours	Description		Quantity
-	P.M. Service.			6.50	SHOP SUPPLIES		1.00
-	Recover Freon And Replace	e Leaking High Pre	ssure Hose		NAPAGOLD OIL FILTER		1.00
	'O' Ring Vacuum And Rech	narge To Specs.			5W20 ENGINE OIL		5.00
_	Repair Right Front Tire, And	d Replace Tire Pres	sure		USED FIRE X REFURBISHED		1.00
	Sensor.Rotate And Balance	•			O RING		1.00
_	Shop Supplies	- · · · · · · · · · · · · · · · · · · ·			31-20 WIPER BLADES 20		1.00
	and aspense				TPMS3 SENSOR TIRE PRE		1.00
					31-16 WIPER BLADES 16		1.00
					R134A LV SHOP 1		2.00
					31-24 WIPER BLADES 2		1.00
		Parts Charge:	170.93	Labor Charge:	390.00		

Workorder: 1401781 Problem: P.M. service and brake pedal low and ruff idle at times and request detail.

Meter Reading: 5	3640		Labor	P	arts
In Date: 02/25/201	Close Date: 0	3/13/2014	Hours	Description	Quantity
- P.M. Service.			8.50	5W20 ENGINE OIL	5.00
<ul> <li>Replace Both Leaki</li> </ul>	ng Rear Shocks.			31-24 WIPER BLADES 2	1.00
<ul> <li>Replace Both Engin</li> </ul>	ne Mount And Transmissio	n Mounts To		NAPAGOLD FUEL FILTER	1.00
Correct Vibration.				SENSA-TRAC LT TRUCK S	2.00
<ul> <li>Rotate And Balance</li> </ul>	e All Tires.			WIPER BLADE	1.00
- Shop Supplies				WIPER BLADE	1.00
company of				NAPAGOLD OIL FILTER	1.00
				INSULATOR	1.00
				SHOP SUPPLIES	1.00
				INSULATOR	1.00
				INSULATOR	1.00
	Parts Charge:	509.26	Labor Charge	510.00	

Workorder: 1402267 Problem: 1 - Wash ticket(s) issued

Meter Reading: 20279		Labor		Parts	
In Date: 03/06/2014	Close Date: 03/06/2014	Hours	Description		Quantity
1 - Wash Ticket(S) Issued					

1 - Wash Ticket(S) Issued

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 97.92

### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 1412170 Problem: Pm service.Fumigate.Request to detail vehicle.

Meter Reading: 60643			Labor	Parts	
In Date: 12/04/2014	Close Date: 1	2/24/2014	Hours	Description	Quantity
- Pm Service.			10.45	GROUP 59 BATTERY MC	1.00
- Replace Both Defective Re	ear Tag Lamp Lens	And		WIPER BLADE	1.00
Sockets.Splice In Wiring A	s Needed.			OUTER TIE ROD END	2.00
- Check Electrical And Char	ging System.Batter	v Failed		WIPER BLADE	1.00
Load Test.Replace Defecti		,		WIRE ASY	2.00
- Inspect And Replace Both	•	nds.		BULB	2.00
- Replace And Balance All F				USED FIRE X REFURBISHED	1.00
- Perform Complete Wheel		<b>1</b> 0		TIRE DISPOSAL FEE	4.00
	Aligninient. rest bin	<i>.</i>		LAMP ASY	2.00
- Shop Supplies				SHOP SUPPLIES	1.00
				5W20 ENGINE OIL	5.00
				TIRE P235/60R16	4.00
				31-24 WIPER BLADES 2	1.00
				NAPAGOLD OIL FILTER	1.00
	Parts Charge:	1,000.47	Labor Char	ge: 627.00	

Workorder: 1412600 Problem: 1 - Detail Vehicle Wash Ticket(s) Issued

Meter Reading: 60643 Labor Parts

	Meter Reading. 000+3			Laboi	i ai to	iaits			
	In Date: 12/17/2014	Close Date: 12	/17/2014	Hours	Description			Quantity	
_	- 1 - Detail Vehicle Wash Ticl	ket(S) Issued							
	ı	Parts Charge:	0.00	Labor Charge:	0.00	Commercial Charge:	96.00		

Workorder: 1505922 Problem: Driver side front tire low

Motor Poading: 64558

Meter Reading: 64558			Labor		Parts		
In Date: 06/12/2015	Close Date: 06/15/2	015	Hours	Description			Quantity
- Tire Service Ess - Driver Sig	de Front Tire Low						
F	Parts Charge:	0.00	Labor Charge:	0.00	Commercial Charge:	66.34	

### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 1509781 Problem: Pm service.Inverter inop.Detail.

Meter Reading: 66792	i robiciii		Labor	200	Parts
In Date: 09/28/2015	Close Date: 10/20	)/2015	Hours	Description	Quantity
<ul> <li>In Date: 09/28/2015</li> <li>Pm Service.</li> <li>Replace Broken Ac Center \ Pressure Test And Inspect On Replace Coolant.</li> <li>Replace Defective Inverter. For And Ground With 4 Gauge \ Replace Rear Brake Pads And Calipers. Test Drive.</li> <li>Rotate And Balance All Four Shop Supplies</li> </ul>	Vent On Dash. Cooling System.Flush Fabricate, All Cables F Wire And Circiut Break and Rear Brake Rotors	And For Power ker.	13.25	BULK BATTERY CABLE BULK BATTERY CABLE BRAKE ROTOR ONLY FAB LOOM-SPLIT POLY A/CMIDDEL VENT NAPAGOLD OIL FILTER 5W20 ENGINE OIL WASHER FLUID CONCENTR WIPER BLADE SHOP SUPPLIES PEAK GLOBAL CPI 1575 INVERTER 1500 W WIPER BLADE CB185-100 CIR BRKR TERMINAL CABL/LUG USED FIRE X REFURBISHED DISC BRAKE PADS WIPER BLADE	14.00 3.00 2.00 14.00 1.00 1.00 5.00 1.00 1.00 2.00 1.00 2.00 1.00 1.00 1
F	Parts Charge:	613.76	Labor Char		1.00

Workorder: 1602553 Problem: Door adjar warning light and low tire pressure light on Detail.

Meter Reading: 69674		•	Labor		Parts	
In Date: 03/10/2016	Close Date: 03	3/17/2016	Hours	Description		Quantity
Computer Diagnose Door	Adjar Light On.Test	And	2.50	DOOR LATCH		1.00
Replace Defective Right Fr	ront Door Latch Ass	embly.		SWITCH		1.00
Repair And Balance Right	Front Tire.			ACTUATOR		1.00
Shop Supplies				SHOP SUPPLIES		1.00
				CLIP		1.00
	Parts Charge:	152.13	Labor Charge:	150.00		

#### Asset: 10162876 2006 FORD FREESTAR Mini Van, Cargo

Workorder: 1602769 Problem: 1 - Detail Vehicle Wash Ticket(s) Issued

Meter Reading: 69508 Labor Parts

In Date: 03/16/2016 Close Date: 03/16/2016 Hours Description Quantity

- 1 - Detail Vehicle Wash Ticket(S) Issued

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 96.00

**Workorder:** 1605621 **Problem:** P.M. service and detail.

Meter Reading: 70856 Labor Parts

	In Date: 06/01/2016	Close Date: 06/15/2016	Hours	Description	Quantity
-	P.M. Service.		4.75	WIPER BLADES 24"	1.00
-	Replace Four Exhaust Sys	stem Rubber Hangers.		WIPER	1.00
-	Rotate And Balance All Tir	es.		20" WIPER BLADE	1.00
_	Shop Supplies			NAPA CABIN AIR FILTER	1.00
				SHOP SUPPLIES	1.00
				INSULATOR	2.00
				INSULATOR	2.00
				5W20 ENGINE OIL	5.00
				NAPAGOLD OIL FILTER	1.00
				NAPAGOLD FUEL FILTER	1.00

Parts Charge: 87.82 Labor Charge: 285.00

Meter Reading: 70737 Labor Parts

In Date: 06/07/2016 Close Date: 06/07/2016 Hours Description Quantity

- 1 - Wash Ticket(S) Issued

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 96.00

Workorder: 1610773 Problem: Transition Prep Charge

Meter Reading: 73095 Labor Parts

In Date: 10/18/2016 Close Date: 10/18/2016 Hours Description Quantity

- Transition Prep Charge 2.00

Parts Charge: 0.00 Labor Charge: 0.00

Total Parts Charges: 4,664.29 Total Labor Charges: 7,080.25 Total Comm. Charges: 997.54